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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN
OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE
TEST BOOKLET. -

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY

- BE IN THE APPROPRIATE PLACE IN THE ANSWER SHEET.,

Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet. '

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which

You have to enter your Roll Number on the TestL ‘ ]

"you want to mark on the Answer Sheet. In case you feel] that there is more than one correct -

response, mark the response which you consider the best. In-any case, choose ONLY ONE
response for each item. o

You have to mark all your responses ONLY on the separate Answer- Sheet provided. See
directions in the Answer Sheet.

All items carry equal marks. :

Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent
to you with your Admission Certificate.

Y

- After you have completed filling in all you} responses on the Answer Sheet and the

examination has concluded, you should hand over to the Invigilator only the Answer Sheet.

You are permitted to take away with you the Test Booklet. :

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers : : . '

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE

IN THE OBJECTIVE TYPE QUESTION PAPERS. . -

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third (0-33) of the marks

. assigned to that question will be deducted as penalty. :

(i) If a'candidate gives more than one answer, it will be treated as a WwWrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question. , : ,

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question. - g
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The least number which when divided by
5, 6, 7 and 8 leaves a remainder 3 is

(a) 423
(b) 843
(c) 1683
(d) 2523

Two numbers are in the ratio 3 : 5. If 9
is subtracted from each number, then they
are in the ratio of 12 : 23. What is the
second number ?

(a) 44
(b) 55
(c) 66
(d) 77

What is the HCF of the polynomials
x} - 3x + 2, x3 - 3x% 4+ 3x ~ 1 and
x¥-172

(a) x-1
(b) x + 1
(c) x2 -1

(d) None of the above

Sx—7y+10  3x+2y+1 1lix+4y-10
1 8 9 ’
then what is x + y equal to ?

(ay 1
(b) 2
(c) 3
(d -3

If

H

A certain sum at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in
8 years. What is the sum ?

(a) Rs. 700

(b) Rs. 800

{c) Rs. 900

(dy Rs. 1000

What is the number of circles which pass
through three given points not in a straight
line ?

(@) O

(by 1
(c) 2
(d) 3

A cylindrical tank 7 m in diameter, contains
water to a depth of 4 m. What is the total
area of wetted surface ?.

(a) 110 m?

(b) 126.5 m?

(c) 131.5 m?

(d) 136.5 m?

A wall is of the form of a trapezium with
height 4 m and parallel sides being 3 m
and 5 m. What is the cost of painting the
wall, if the rate of painting is Rs. 25/- per
square metre 7.

(a) Rs. 240

(b) Rs. 400

(¢) Rs. 480

(d) Rs. 800

(Contd.)
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(a) 423

(b) 843
(c) . 1683
d) 2523

a‘ra@rﬁ%s%wﬁ‘%wﬁm
qeqr & 9mer R 9 @ 3 12:23 @
FqI F B SRt ¥ qEd) gewm w7y 2 7
(a) 44
(b) 55
(c) 66
@ 77

Elg‘l??f x4—3x+2,x3—3x2+‘3x—13ﬂ'{
x — 1 %1 HCF 71 & ?

(a) x-1
- (b)
(© x*-1 |
@ SRRRE & ¥ T

Sx—T7y+10 3x+2y+1 1lx+4y-10
.q.% Y _ Y _ Yy

1 8 9
A x+yFad soeax & 7
(a) 1
(b) 2
(© 3

@ -3

S.ﬁéﬂ%mwwﬁswfﬁ

1350 %, 3T 83 ¥ 1620 % & oI 2
ey o g 7

(a) . 700 %

(b) 800 %
(c) 900 %
(d) 1000 7.

7 R M Regal &, S @ W@ @
¥ A8 B, TR aw gar A wen T
g ‘
(a 0

(b) 1

(c) 2

(d) 3

TF 7 mead FH JqAHRE H N 4 m
TEWs TF AT B 1S W g & qeqyf
e w3 7 |

(a) 110 m?

(b) . 126.5 m?

(¢) 131.5 m?

(d) 136.5 m?

TF EHAEER A 4 m FEE # 2
Bl gaT @l 3 m X S m )
wE Imd A/ A T g R g A
g 25/-% Y i WeT B 7

(a) 240 =

(b) 400 %

(c) 480 =

(d) 800 %

(Contd.}



9.

10,

1.

12.

A lawn 30 m long and 16 m wide is
surrounded by a path 2 m wide. What 1s
the area of the path ? '

(a) 200 m?2

(b) 280 m?
(c) 300 m?
(d) 320 m?

The angle of elevation of the top of an
incomplete vertical pillar at a horizontal
distance of 100 m from its base is 45°, If
the angle of elevation of the top of
complete pillar at the same point is to be
60°, then the height of the incomplete pillar
is to be increased by

(a) 50\/_2'm'
(b) 100 m

() 100(43 - m
@) 100 (¥3 + 1) m

The system of equations x + 2y = 3 and
3x + 6y = 9 has

(a) unique solution
(b) no solution
(¢) infinitely many solutions

(d) finite number of solutions

A hollow sphere of internal and external
diameters 4 cm and 8 cm respectively is
melted into a cone of base diameter
8 cm. What is the height of the cone ?
(a) 12 cm
(b) 14 cm
(c) 17 ¢cm
(d) 18 cm

13.,

14,

15.

16.

The sum of digits of a two digit number -
is 8 and the difference between the number

. and that formed by reversing the digits is

18. What is the difference between the
digits of the number ?

(a) 1

(b) 2
{c) 3
(d) 4

A fruit-seller buys lemons at 2 for a rupee
and sells them at 5 for three rupees. What

" is his gain percent ?

(a) 10%

2 (b) 15%

(¢) 20%
(d)y 25%

A man sold two watches, each for
Rs. 495. If he gained 10% on one watch
and suffered a loss of 10% on the other,
then what is the loss or gain percentage
in the transaction ?

(a) 1% gain

{(b) 1% loss ‘

_{(¢) 100/99% loss

(d) No gain no loss

If 6 < x £ 8, then which one of the

following is correct ?

(a) x-6)(x—-8=20
b) x-6x-82>0
() (x-6)(x—-8=<0
(d) (x-6)(x-8)<0

{(Contd.)




9.

10.

CSFhA F ? ?

#1¢ 30 m wd 16 m ST T Al
2m?ﬁ%u¥%%ﬁmgm%|r@w

¥

(a) 200 m?

(b) 280 m?

(c) 300 m?
() 320 m?

mwmm@*mmm

P AER ¥ 100 m ARW Th W 450

81 AR @ @ 3 o W e Ry

13.

T ITIIT W7 60° BT B, v At w
- @ F FEr A R R sern & 7

(a) 5042 m
(b) 100 m

S (©) 100(J"~1)m‘

11.

12.

- (9)

@ 100 (3 + Hm

T x + 2y =3 M 3x+6y=9%
Ecan

(@) ¥ Afghm sw 2

(b) &1 I A TE B

(©) & w¢ T wq@ €

(@) # T den & 5 7

4 cm X 8 cm & HAW: fiTh M aEh

-'mm@@aﬁﬁﬁﬁwum

Wﬁmmwwwmw%lf

mm"r:ﬁm‘m%?
(a)
(b)

12 cm
14 cm
17 cm
18 cm’

(d)

_%?

14.

15.

k (a)
- ()
. ()

16

Bt @ st awh @em & s F g
8 8, X S¥ Wew Ty IEE FF Fv .
Iee F T o den & diw w7 a
IS%IW%W%mWWW'

(@ 1°
(b) 2
© 3
(d) 4

TF wo-fadar oF ' X 2 flg A
¥ iy wlgar & Mk s 9 = A
5F T I 8| IaHT yfawa At a4
g7 )
@) 0%
(b) 15%
(c) 20%
(d) 25%

T @i 3 QA oaidal gl 9 w1 9y
495% Ad gC I+ IR I/ w ¥ W
10% F1 &9 3 gE 9T 10% &7 9reT
gmeﬁﬁﬁﬁmuﬁa?rqfamamm
eT F9 oga !

1% ws

1% HTeT

100/99% Tt

(d F @™ T §Er

.uﬁ6<x<83ﬁﬁt=rﬁ-lfmﬁﬁaﬁ={mr '
i @B 7 '

(a) (x—6)(x-8)>0
b)) x-6)x-8>0
€ x-6)(x-8)<0
d x-6)x-8<0
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17. What is the smallest number that must be
added to 1780 to make it a perfect
square ?

(a) 39
(&) 49
(c) 59
(d) 69

18. What are the roots of the quadratic equation

a’bix? — (a2 + b)Y x+1=07

A cylindrical vessel of height 10 cm has
base radius 60 ¢m. If d is the diameter of

19,

a spherical vessel of equal volume, then
what is d equal to ?

(a) 30 cm
(b) 60 cm
(c) 90 cm
(d) 120 cm

20. The surface area of a sphere is 616 square

cm. If its radius is changed so that the
arca gets reduced by 75%, then the radius
becomes

(a)
(b) 2:3 cm
(c) 25 cm
(d) 35cm

1:6 cm

21

22.

23.

24.

From. a lighthouse the angles of depression
of two ships on opposite sides of the light-
house are observed to be 30° and 45°.
If the height of lighthouse is h, what is
the distance between the ships ?

@ W3+
® {3-1)h
©) V3h

@ (1)t

If (x, y) = (4, 1) is the solution of the pair
of linear equations mx +y = 2x + ny = 5,
then what is m + n equal to ?

(@ -2
(b) -1
(¢) 2
(d)y 1

What i e of (2:3) -0.027 ,
hat is the value o (2.3)3 0694000 -

@ 03
(b 23
(c) 1

(d) 2

The earth takes 24 hours to rotate about
its own axis. Through what angle will it
turn in 4 hours and 12 minutes ?

(a) 63°
(by 64°
(¢) 65°
(dy 70°

(Contd.)
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18.

19

20.

1780 ¥ ~gAaq TN Hewr sFx I
wf af a7 s @war & ?

(a) 39

- (b) 49

(¢} 59

(d) 69

fgmma wHoT

a?b2x? - (a2 + b)Y x + 1 =0
CO G

11
@ 52

11
(b)_a—zy_g

1 1
© 7%

11
@ -y
10 cm 391 # ©F 3OER adq W
R B 60 cm 21 TR wwWry mgaH

%ﬁ@ﬂ?ﬁuaﬁ#wmd%,a‘rd_

frgs suet 8 7
(a) 30 cm

(b) 60 cm

(c) 90 cm

(d) 120 cm

fFH M F g w SAFA 616 9 cm
2 ufy T B & seest gEed
75% FH & gr s & @1 Bewm 7@

it 2 7
(a) 16 cm

| (b) 23 cm

(c)‘ 25 cm

(d) 35cm

.

21.

22

23

24,

© (2:3) +069+0-09

el v w1 q, v @ 3 Rda
feemsit # Rua & BN @ sEHE-Fwr

30° 3T 45° 3@ T &1 Ty wew

# F b @ wEr F diw A g W
37 .

(a) («E+1)h
® (3-1)n

- © V3h

@ (1+j_§]h

gfy Wesw FHFEIN-GTH mx + y =

2x+ny=5% T B (x,y)=(4, 1) B,
@ m+nfFEd sTET § 7

(a) -2
(b) -1
(c) 2
d 1

(23) —0.027

H A ¥T B 7

(a) 03
(b) 23
(c) 1
(d 2

©E I W B A AR g W g
246 TR 2 49 12f\e F m

 Bew W @ g ?

(a) 63°
(b) 64°
(c) 65°
) 70°

(Comid.)
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25.

26.

27.

(a)
(b)

An employee is required to contribute 10% 28.

of his pay to General Provident Fund.
If he gets Rs. 13,500 as net pay in a
month, then what is the monthly General
Provident Fund contribution (assuming no
other deductions) ?

(a) Rs. 1215
() Rs. 1350

(¢) Rs. 1500 29,

(d) Rs. 1650

If Rs. 8400 is divided among A, Band C

. . 1 . ]
in the ratio 5%

: 10° what is the share
of A?

Rs. 1800

Rs. 3000

(c)

(d) Rs. 4000

5 - 3 2
= Q:R =< then
-Q 4 5

3
IfP:Q==

Q 5 7
what is P : Q : R equal to 7
2
5

3.5
® 577

9 15 2

® 36728 7

31.

3 2
© 3°3°3

|

3
(d) F

| W
~J |

Rs. 3600 30.

L]

How many men will be required to plough
100 acres of land in 10 days if 10 men
require 8 days to plough 20 acres of land ?
(a) 30 |

(b) 40

(c) S0

(d)y 60

A train 280 m long is moving at a speed
of 60 kmph. What is the time taken by

the train to cross a platform 220 m long ?
(@) 45s
(b) 40 s
(c) 35s

(d) 30s

If x + y + z = 0, then what is

_XyZ
(x+y)(y+2z)(2+X)

equal to ?

T x2-y,y£-2z Z#—X]

(@ -1
(by 1
{c) xy tyz+zx

(d) None of the above

What is the remainder when (x'! + 1) is
divided by (x + 1) ? '

(@) 0

by 2
(c) 11

d 12
(Contd.)




- 25.

26.

TF FHATH B A FaT B 10% WY

viwfafe ¥ serE o a9 2 it
w R ¥ I Praw 39T 13,500 %
g, @ 3@ (g WAw e 5 oA ek
FIA A€ B) umrgw wlasfyiy ¥ @
s IR FAT BT 2. 7

@ 1215 % |

(b) 1350 &

() 1500 %

(d) 1650 %.

1"1
afE 8400 % FA,BIMRCHA "5 <10

C @ IR # AT &, @ AW Rewm wm
27

- (a) 1800 ®.

(b) 3000 =.

(¢} 3600 ®.

27.

(d) 4000 &

al

]

qﬁPZngzg—’.Qle

o

3
, 4
P:Q:RfHgsd sue & ?

3 5 2
@ 5°7°3
(b)

(c)

wn | W
B

b

(d)

| e
1| wn
W

28.

29.

R 10 =i 20 THs A H S &
Rrg gfogr X & @ 100 wws Tl +
10 R ¥ S & R o afw
CICEDE I b B '

(@) 30

(b) 40

(c) 50

(d) 60

TF 280 m ot IS 60 kmph 1 TR
q Iw @ 2 R 220 m R <TwEd

_aﬁmwﬁﬁwiwmﬁaﬁﬁmmaaﬁ

amar & 7

(a) 45s

T (b) 40s

30.

31.

() 35s
(d) 30s

- Xyz
(x+yHy+z)(z+Xx)

Rx+y+z=0d
g o 2 7

Xt~y y=—12 2 #—X]

@ —1

(b 1

() xy+yz+zx

d) SRRRE & 3 w48

s+ nE o x+ DA ffer fean '
S g @ AuE g ?
(@ 0

() 2

) 11
@ 12

(Contd.)



32.

33.

34.

35.

I (x — 3) is a factor of (x* + 4px — 11p),

then what is the value of p ?

(a) -9
(k) -3

(c)y -1

@ 1

What is the LCM of a’b — ab’, a3b? + a?b’
and ab(a + b) ?

(a) a’b’(a? - b?)

(b) ab(a? — b?)

(¢) aZb? + ab?

(d) 2’b3(a? - b?)

A circle circumscribes a rectangle with
sides 16 ¢cm and 12 cm. What is the area

of the circle ?

(a) 48 m square cm
(b) 50 m square cm
(¢) 100 n square cm

(d) 200 m square cm

“What is the area of an equilateral triangle

having altitude equal to 23em ?
(@) 3 squére cm
(b) 243 square cm
(¢) 3./3 square cm

(d) 4+/3 square cm

If

. The point of concurrence of the altitudes

of-a triangle is called
(a) Circum-centre
(b) Ortho-centre

(¢) In-centre

(d) Centroid

sin@ cosHO

- = 2 with 0 < 8 < 90°,
cos® sin0
then what is 0 equal to ?
(a)y 30°

(b) 45°

(c) 60°

d) 75°

. If the population figures are given for each

State of India, then the data can be
classified as

(a) AQualitative
(b) Quantitative
(¢) Chronological
(d) Geographical

. A student moves \/5 x km east from his

residence and then moves x km north.
He then goes x km north-east and finally
he takes a turn of 90° towards right and
moves a distance x km and reaches his
school. What is the shortest distance of
the school from his residence ?

(a) (2J§+ 1)x lfm
(b) 3x km
() 2 J2x km

(d) 342 x km

(Contd.)




}. 32, 9fr (x% + 4px — 1 36%%&3%%??@%@@

Ip) 1 T ToHES

x-3)2 @ par A= FwW 2 ? Feam & 7
( . (a) uiR@EF+s
a) — 9
_ (b)y TR
(b) -3 (c) FaAg
() -1 (d) F=sF
_(d) 1 .
37. TR0 <0.<90°® WY sme+C9se =2,
| cos@ sin®
33. a’b - ab’®, a’b? + a%b’ X ab (a + b) F dr o e FuEe 8?7
LCM W% ? ' (a) 30°
(a) a?bZ(a? — b?) (b) 45°
(b) ab(a? — b?) (c) 60°
" (€) ab? + abd (d) 75°
(d) a’bia? - bY)
38. O} WA F U WY § fg segen
34. 16 cm 3 12 cm 4R a@ el smr mﬁ&ﬁa‘faulafﬁmmﬂ
+ ofie g e mm 21 g9 w1 fAwd ilgsﬁ@mm%
T 2 ? (a) TS
(a) 48 m #f cm (b) HTATHE
- (b) 50 = @ cm (é) Tl
‘ (¢) 100 n 7 cm @
(d) 200 = @ cm . | o
- 39. ¢ B A W ¥ V2x km @@ IR
_ T x km IO 9a@ar 21 3F M q@fex
35. 2V3em FE & fdt wmag B W x km ¥er@r &, dad @R R 90° X
A F4T B 7 gga1 8 IR x km FoR T (A vga
@ 5 7 em gl?sﬂ%wﬁﬁaaﬁqw,{ﬁw
- ® zﬁﬁm_’ (@) . (22 + 1)x km
(©) 343 @ cm (b)) 3x km
" 43 T em (©) 2v2x km
(d) 32 x km

(Contd.)



40.

41.

42,

43.

(a)

The lengths of two sides of a right angled
triangle which contain the right angle are
‘a’ and ‘b’ respectively. Three squares are
drawn on ‘the three sides of the triangle
on the outer side. What is the total area
of the triangle and the three squares ?
(@) 2(a’® + b?) + ab

(b) 2(a’ + b?) + 2-5ab

(¢) 2(a%+ b?) + 0-5ab

(d) 2-5(a% + b?)

What is 3.76 _ {-457¢6 equal to ?
23100191
2-3101091‘
'2:3110091
2:3110901

(b)
(c)
(d)

The sum of two numbers is 10 and their

product is 20. What is the sum of their

reciprocals ?

(a) V10

(b)y 1/2

(c) 1

(d) 2

x*=3x+2  x'-5x+4

What is =
x2-5x+6 X —-Tx+12

equal

to ?

44,

45.

46.

47,

From a solid cylinder of height 4 ¢cm and
radius 3 cm, a conical cavity of height
4 cm and of base radius 3 cm is hollowed
out. What is the total surface area of the
remaining solid ?

(a)
(b) 22n square cm

I15n square cm

(¢) 33w square cm \

(d) 48w square cm

If A= n/6 and B = nt/3, then which of the
following is/are correct ?

1. sinA+sinB=cosA+cos’B
2. tanA+MnB%cotA+cotB

Select the correct answer using the code
given below :

(a) 1 only

~(b) 2 only

(c) Both1 and 2
(d) . Neither 1 nor 2

Ifa+b+c=6, a?+ b +c? =26, then
what is ab + bc + ca equal to ?

(@) 0
(b) 2

(c) 4
@ 5

Which among the following is the largest
four digit number that is divisible by 88 7

(a) 9988
(b) 9966
(c) 9944
(d) 8888

{Contd.)




41.

42

43.

(@)

40, F g Brgw @ 3T Q) qemn @
amgdt R frg F g & FAe ca

44,

b ¥ Brge A A g W A

-3 T A A WA W ¥ B @

& wl F A # oww Aam # 7

" (a) 2(a®+ b?) + ab

(b) 2(a? + b2) + 2-5ab

() 2(a® + b%) + 0-5ab
(d) 2-5(a% + b?)

376 — 1-4576 Fwd sxET 2 ?
(a) 23100191
() 23101091
(¢) 23110091

(d) 23110901

%H@Bﬁmu’mlo%aﬁ“{mw
2081 ITH gowal w1 AT w7y § 7
(@ 1/10 |

() 12

) 1

@ 2

x? ~5x + 4
x2-Tx+12

x2-3x+2 .
x2 _S5x+6"

27

e ey

X+3
x-3
(®) 1

X+1

() —

x—1
(d),2

45.

46.

4 cm 3 @K 3 om Bew ¥ W AW
S ¥ 4 em FaTE MY AR Brew 3 em
F T wWH qReF @k et I #

.ﬁ@mmwwmw%?

(@) 157 a7 cm
(b) 22z @ cm
(c) 33n3f cm

* (d) 48n Tl ¢m |

HﬁA=n/'6l:ﬂ"l'{‘B‘=n/3 o fPreafafaa o
FA/AAR w8 B8 ? |

I. sinA+sinB=cos A+ cos B
2. tanA+tar"1B=cotA+_cotB"
A RE W Fz = W@ = Fd IW

(c) 1324 &

(d T@13MT 7 &2

= 26, a

gl a+b+c=6,a2+b2+¢2

ab+bc+cafhad symT 2 ?

Y3

@)
(b)
(©)
(d)

ARV R N N

Prefofeg & &) 883 @ faweg 4 i) areh
aftebom gem Fref @ 7

(a) 9988
(b) 9966
(c) 9944
(d) 8888
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48.

49.

| 50.

51.

A, B, C can do a piece of work individually
in 8, 10 and 15 days respectively. A and B
start working but A quits after working
for 2 days. After this, C joins B till the
completion of work. In how many days
will the work be completed ?

(a)
(b)
(c)
(d)

53/9 days
34/7 days
85/13 days
53/10 days

. The radii of the circular ends of a bucket

of height 40 cm are of lengths 35 em and
14 cm. What is the volume of the bucket ?

(a) 60060 cubic ¢cm
(b) 70040 cubic cm

{c) 80080 cubic cm

(dy 80160 cubic cm

If S is the total surface area of a cube
and V is its volume, then which one of
the following is correct ?

(a) V3 =216 82
(b) S3 =216 V?
(c) S3=6V?2
(d) S%=36V?

If A, B, C, D are the successive angles
of a cyclic quadrilateral, then what is
cos A + cos B + cos C + cos D equal
to ?

(a) 4
(b) 2
(¢} 1
@ o

52.

53.

54.

55.

A number when divided by 2, 3 or 5 gives

remainder 1. The number is
(a) 31
(by 47
(c)y 49
(d) 353

Let the observations at hand be arranged
in increasing.order. Which one of the
following measures will not be affected
when the smallest and the largest
observations are removed ?

(a) Mean

(b) Median

(c) Mode

(d) Standard deviation

If sin © and cos O are the roots of the
0, then which

one of the following is correct ?

equation ax? — bx + ¢ =

(a) a®+ bZ+ 2ac =0
(b) a?-b%+2ac=0
(c) a2+ cZ+2ab=20
(d) a2-b>-2ac=0

A unit radian is approximately equal to
(a) 57° 17" 43"
(b) 57° 17 45"
(c) 57°17' 47"
(d) 57° 17" 49"

(Contd.)




48.

49,

50.

51.

B N Breurd s

ABCWW@TE&W@%

FAE: 8, 10 3T 15 1 & T g
AFTBFH FCT Y& Hd B

113

I

zﬁ?aﬁAmmﬂTiﬁ‘s’%m%lzﬂﬂ‘r, '

T B ®Y C 3T F/ & g aF
gmwmhmﬂ%ﬁa‘rﬁm
B ?

(a) 53/9 fa=
(by 34/7 &=
(c) '85/13 f&=
(d) 53/10 R=

40 cm # R Tl [Ff awd & gl
35 cm X
l4cmaﬁﬁ%|mmwm%?

(a) 60060 ¥9 cm
(b) 70040 99 cm
(c) 80080 97 cm
(d) 80160 99 cm

frft w1 w1 w1 To-SFwa AR S F AR
V 3961 Agaq g, @ Frafafea ¥ @
T T wE B ?

(a) . V3 =216 §?

(b) S* =216 V?

(c) $*=6V?2

d) $2=36V°

ot B @ Sqde F ST
w11 wAI: A, B, C, D ¥, @l
cosA+cosB+cosC+cosDﬁ‘»‘H%
qOET B 7 :

(a) 4
(b) 2
() 1
(dy 0

52.

53.

54.

 55.

. (b) a?

fFd) g w12, 3w 5§ Rl v
ASHA | I B qE TR 7

(4@ 31

(b. 47
(c) 49
d 53

Iy EON F FEuE R A WU
freafofaa o & 19w @ 9m smiafda
@muﬁwsﬂwaﬁmﬁaﬁaﬁ

'Bﬂﬁmm?

(a) W=
(b) wfene

(c) FgH
(@) "Fw ReEeET

o et a - bx + ¢ = 0 B LGl
sin 6 T cos 6 ¥, @ Preaffem ¥ ¥
A w2
(a) a2+b2+2a0‘0
~ b2+ 2ac =10
(¢c) a®+c2+2ab=0

(d) a2 -b2-2ac=0

TF TFE YT AT R gwEt £ o7
(@) S57° 17' 43"
(b) 57° 17" 45"
() 57° 17 47"
() 57° 17* 49"
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56.

57,

58.

59.

The arithmetic mean and geometric mean

of two numbers are 14 and 12 respectively.
What is the harmonic mean of the
numbers ?

(a8 10
(b) 13
(c) 3273
(dy 72/7

Let A and B be two points. What is the
locus of the point P such that angle
APB = 60°?

(a) the line AB itself

(b) the point P itself

(¢} the circumference of the circle with
AB as diameter

(d) the line perpendicular to AB and
bisecting AB

76 ladies complete a job in 33 days. Due
to some reason some ladies did not join
the work and therefore it was completed
in 44 days. The number of ladies who
did not report for the work is

(a) 17
{(b) 18
(c) 19
(d) 20

If 3x3 — 2x2y — 13xy? + 10y? is divided
by x — 2y, then what is the remainder ?
(a) O

(b) x
() y+5
(d x-3

60. The angles of elevation of the top of a

61.

62.

tower from two points situated at distances
36 m and 64 m from.its base and in the
same straight line with it are
complementary. What is the height of the

tower ?

(@ 50m
(b) 48 m
(¢) 25 m

(d) 24 m

A grassy field has the shape of an
equilateral triangle of side 6 m. A horse
is tied to one of its vertices with a rope
of length 4-2 m. The percentage of the
total area of the field which is available

for grazing is best approximated' by
(a) 50%
(b) 55%
(c) 59%
(d) 62%

Jooo32
Jo32

What is the value of

(a) 0-0001

(b) 0-001
(c) 001
(d) 01

(Contd.)




s6. Bl @ gl 1 owwY T R 6p, Bl YAt % aER @ 36 m AT 64 mgh

57.

58.

" 59.
SR Am § @ R TEES e !

TR W FEe 14 A 12 §1 gEe
HT EYCHE AT T OB 7

@ 10
®) 13
©) 3273
@ 727

m AR A B A R ¥ R
2T

P# fogua w7 2, W YER &
APB =90°7

(a) @ (@ AB & -

(b) =4 =g P
(c) AB& =@ ™ g 1 9

(d) ABW o= X AB® fofer 33

76 e A w33 Rl ¥ q@ oA,

¥ Bt s @ o Al FW 9T TE
gl AT zEle ug w4 R A @
gHI T WX A I gt ARy &)
qem W= g ? o

{a) 17
(b) 18

) 19
@ 20

TR 3x3 - 2x%y — 13xy2 + 10y3 R x — 2y

(a) 0
(b) x

(&) y+5
L)y x-3

61.

62.

T, @ 9w Y@ # Rum @ Regal

¥ 39 i & e F I 'ﬁww.
F B ﬁﬂaﬁﬁl‘a‘w%?
(a) ‘50‘m--

(b) 48 m

(c) 25 m

(d) 24 m .

et arg F B FT AER 6 m T TR

w g Pee w1 21 SR B o
A ¥ AT 42 moER wh A
dar gam 21 el dEee # 4 A @
foe Iueen g 1 walus Frecam
yfawrar wm & ?

@ 50%

(b) 55%

(€) 59%

d) 62%

~0-0032
V032

EIRR: 1 B 2| -

(a) 0-0001
(b) 0-001

(c) 0-01

d) 01
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66.

63.

64.

65.

Consider the following statements :

1. Set of points of a given line is a
finite set.

2. Intelligent students in a class is a
set.

3. Good books in a school library is a
set.

Which of the above statements is/are not
correct ? '

(a) 1 only

(b) 2 and 3 only
(c) 1 and 2 only
(d 1,2 and 3

If o and P are the roots of the equétion
x2 — 6x + 6 =0, whatis o® + p3 + a? +
B2 + o + B equal to ?

(@ 150
(b) 138
(c) 128
(d) 124

If 2™ + 21#m = 24 then what is value
of m ?

(a 0

(b) 1/3

(c)
(d) 6

L}

If n is a natural number, then Jn s
(a) alwayvs a natural number

(b) always a rational number

(¢) always an irrational number

(d) either a natural number or an irrational

number

67.

68.

69.

The frequency distribution of a variate
X is as given below :

X 2134 (5|6
frequency 2 (7114 |22 130

What is the cumulative frequency of variate
X=5?

(a) 36

(b) 44

(c) 45

(d) 52

Consider the following statements in

respect of the set S = {1, 2, 3, ..., n} :

1. (n+1)/2is the median of the numbers
in S.

2. n is the mode of the numbers in S.

Which of the above statements is/are

correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither I nor 2

The radii of two cylinders are in the ratio
2 : 3 and their curved surface areas are in

the ratio 5 : 3. What is the ratio of their

volumes ?

(a) 20 :27
by 10:9
(c) 9:10
(d 27:20

(Contd))




63.

64

65.

66.

Prefofem Fa W fEER 9

1 P & T e % Rreget W e

w uRfm wgew
2. & wen ¥ gigwm o™ @ w=aw
2

3. Mm%mﬁa—eﬁgﬁ%
Th gYTEg 8| :

wﬁiﬁf@aaﬁm‘wﬂaﬁw@a‘é’raﬁ

8/ ?

(a) Haa 1

(b) &ad 2 3T 3

(c) Faa 132

(d) 1,233

2R w2 6x + 6 = o%qgmsﬁt
B2, ?ﬁa3+ﬂ3+a + B2+ g + B AR
qET § 7

(a)
(b)
(c)
(d)

150
138
128
124

27

(a) 0O
{(b) 1/3
{c) 3
(d 6

o n F¢ gl w@n & @ Jn

(a) a1 TF gl W @

(b) Tda1 uF wRAy e @
(c) ¥de1 @& JRAT dE@
(d) = @ gaAql der @ o1 iy de

uf%z"‘+2'+ml—24 @ mE A FT

67.

68.

69.

(d)

Wﬁmxwmaﬁﬁ%ﬁm
™ e

X 2131 415 | 6
aﬂ'am_ﬂz 14 | 22 |30

Bex X = 5 9w arcee R ¢
(a)l36 '
(b) 44
(c) 45
52

==y S = {I, 2, 3, ey} B ER A
1. (n+1‘)/2uﬁ€aawr'% S ¥ gegay A
2. S ems 1 SgaF n |
Suffofaa susl & & A/ ah 2/8 7
(a) 3d 1 |

(b) ®aa@ 2

(c) 13x23= &

(@ F @1 T &2

X AL M PBroawd 2:3F Igum F 8
A I T TV B e 53 F
A F | ITH @A F LI
g7

(a) 20 :27

(b) 10:9

() 9:10 -

(d) 27 :20
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70. The areas of two circles are in the ratio

71.

72.

73.

1 : 2. If the two circles are bent in the'

form of squares, what is the ratio of their

areas ?7

(la) 1:2
(b) 1:3
€ 1: 42
d 1:4

The areca of a rectangle whose length is
5 units more than twice its width is 75

square units. What is its width ?
(a) 3 units

(b) 5 units

(c) 7 units

{(d) 10 units

If the diameter of a sphere is doubled,

how does its surface area change ?
(a) It increases two times.

(b) It increases three times.

(c) It increases four times.

(d) Tt increases eight times.

The sum which amounts to Rs. 364-80 in
8 years at 3-5% simple interest per annum
is :
(a)
(b)
()
(d)

Rs. 285
Rs. 280
Rs. 275

Rs. 270

74,

75,

76.

77.

(©)

The length of shadow of a tree is 16 m
when the angle of elevation of the sun is
60°. What is the height of the tree ?
(a) 8m

(b) 16 m
(c) 1643 m

16
—= m

@ 3
A sphere is inscribed in a cubical box such
that the sphere is tangent to all six faces
of the box. What is the ratio of the volume
of the cubical box to the volume of sphere ?
(a) 6m

(b) 36m

(c) 4n/3

(d) 6/n

The product of two numbers is 6912 and
their GCD is 24. What is their LCM ?

(a) 280
(b) 286
(c) 288
(d) 296

The area of a triangle ABC is equal to
area of square of side length 6 cm. What
is the length of the altitude to AB where
AB=9cm ?

(a)
(b)

18 cm
14 cm
12 ¢cm

8§ cm

(d)

(Contd.)
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71.

- 72,

73.

(0 1
@) 1:4

 (a)
. (b)

R 9 R A W ASHEC A F w9 F

1 R s @ 3T fAwelt F IO

w1 g ?
(@ 1:2

(b 1:3
: V2

@ I A oo g g der @
5w s & AR dmwe 75
21 TR e w2 7 |
@) 3@E |

(b) 5 FE

© 7%

(d) 10w

‘-ﬁ%ﬁ?éiiﬁﬁmfmﬂg'gmaﬂﬁmm
- W IqH IS S W TL@ seon 87

(a) 98 WEHT AT B ST 2
(b) @& WeHT frT @ W B
() 7@ wgHT T A oW B

©(d) B TEHL WSAT B T 8

g st A 3-5% vl s womw s AN
WA A @A 364-80 % 9 WM 2B, q6
T8 7 ‘
285 .
280 &,

275 &

©
@

270 &

77
B At & duwd D IO 81 AB TF RN
N TR T &, Wl AB =9 cm ?

74, Bl U3 A oA N T=E 16m 9
gd 1 A AW 60° BT B Y3 W
Fus Fr g 7

(a) 8m

® 16m '

() 16J§ m-

75.

76.

16
@ Fm

ﬁﬂﬁm'aﬁ%aﬁiﬁﬁwﬁw-
W TSR § & O w5 @ e 5 g
& weff 2| 9 ER wgE F wuad &
O R | G 1 S
(@ 6n | |

(b) 36m

(¢) 4n/3

_ (d) 6/n |

- R HT IO 6912 8 T AR

GCD 2421 991 LCM = 2 ?
(a) 280 -
(b) 286

(©) 288

(d) 296

et By ABC &1 9% J8H 6 cm 91

(a) 18 cm
(b 14 cm
(¢) 12 cm
(d) 8 cm
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78.

79.

80.

81,

2 7 14

What is the LCM of =, —, — ?
3915
7
(a) 3
14 ,-
(b) 3
2
(c) 3
|
(d) 3

A car travels along the four sides of a
square at speeds v, 2v, 3v, 4v respectively.
If u is the average speed of the car in its
travel around the square, then which one
of the following is correct ?

(a) u=225v

‘(b) u=3v

(¢) v<uc<v
(d) 3v<u<d4y

What 1s the number of wax balls, each of
radius 1 ¢m, that can be molded out of a
sphere of radius 8 cm ?

(a) 256

(b) 512

(c) 768

(d) 1024

10 cylindrical pillars of a building have
to be painted. The diameter of each pillar
is 70 ¢cm and the height is 4 m. What is
the cost of painting at the rate of Rs. 5
per square metre ?

(a) Rs. 400

(b) Rs. 440

(c) Rs. 480

(d) Rs. 500

82.

83

84,

Consider the following statements :

1. The product of any three consecutive

integers is divisible by 6.

2.  Any integer can be expressed in
one of the three forms 3k, 3k + 1,

3k + 2 where k is an integer.

Which of the above statements is/are

correct ?

(a) I only

(b) 2 only

(¢} Both 1 and 2

(d) Neither | nor 2

14

The fourth proportional to 7, 11, 14 is
(a) 16
(b) 18
(c) 20
d) 22

ABC is an isosceles triangle such that
AB = BC = 8 cm and £ ABC = 90°.
What is the length of the perpendicular

drawn from B on AC ?
{(a) 4 cm

(b) 442 cm

(¢) 242 cm

(d) 2 cm

(Comd.)




79.

- {©)
(d)

80.

81.

(d)

Bl o oA g W AR e

m:v,2v,3v,4vﬁﬁﬂ‘lﬁﬁﬂﬂ?ﬁ%lﬁ
i F AR AT KT B ATAT W IAHT
Maa o u g, @ R ¥ 3 fiFa
w w7 ' '
(a) u=2-25v

(b) u=3v

v<u<2v

3Jv<u<dgy

8 cm @ 5w a0 T M ¥ 1 em Brewn
H o Am A N e o gD E?
(a) 256 :
(b) 512
(c) 768
(d) 1024

Bt T3 # 10 ATE @R A HET
2 Ucds @FH % mE 70 ¢cm & 3NX

Fa€ 4m2 | ufy @f M 5T BN W
¥ N v ww g ? -
400 ©.
440 %,
480 &
500 ®.

(a)
®)
(©
(d)

8. fFrefifeg Fui ™ RER ARm

84

83.

1. ﬁﬁﬁﬁﬁaﬂﬂﬂ?{mﬁ%mw
69 fawrey gar 2

-2, Y Y guds & 3k, 3k + 1,

Ik +2% ¥ B ©F w9 F w A

o Hﬁ?aﬁfaﬂkqﬁéwﬁ?%l

Gﬂﬁ%ﬁqﬁam?‘fﬁﬁm/ﬁﬂﬁ?/?? :
(@) ¥ I |
(b) Fad 2

() 1 X 23t &
@ T R1A T A2

7,11, 14 &1 Hen BEIRRIIGEZC 2
(a) 16 |

() 18

(c) 20
(dy 22

ABC #¥ wafgeg By @ TR & &
AB = BC = 8 ¢cm 3T £ ABC = 90° &1
BY ACR ©F M a= &) aw=rg &0
g ? |

(a) 4 cm

(b) 442 cm

(¢) 242 em

. (d) 2em
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85.

86.

87.

What is the length of the perpendicular
drawn from the centre of circle of radius
r on the chord of length 3r?

(@ r

() V2r
() /2
(d) t/4

If o and B are complementary angles, then

1
cosa } 2
+
cosf

sina

sinB

what is /coseca-cosecp [

equal to ?

(@ 0

() 1

(c) 2

(d) None of the above

Consider the following statements :

1. The opposite angles of a cyclic
quadrilateral are supplementary.

2. Angle subtended by an arc at the
centre is double the angle subtended
by it at any point on the remaining
part of the circle.

Which one of the following is correct in
respect of the above statements ?

(a)
(b)
()
(d)

Statement-1 = statement-2
Statement-2 => statement- |
Statement-1 < statemcnt-2

Neither statement-1 = statement-2

nor statement-2 = statement-1

88. Which one of the following is a prime
number ?

(a) 161
(b) 171
(cy 173
(dy 221

V5+43 543

5 NI RN W

What is

equal to ?

(a) 16
(b) 8
{c) 4

@ V15

i} . 3 4 5
What is log,o(3)+log,o(§)+ lOg"’(ZJ+ .....

up to 8 terms equal to ?
(@ 0
(b) 1

(c) log,S
(d) None of the above

90.

91. A

38°
B C D

In the figure given above, £ B = 38°,
AC = BC and AD = CD. What is -
.Z D equal to ? '

(a) 26°
(b) 28°
(c) 38°
(d) 52°

(Contd.)




85. %@Tr%gﬁ%%—dﬁ J—r e A

86.

WHEr 9 ER T oo ) s wm g 0
(a) r

®) J2r

(c) /2

(@) r/4

uﬁaﬁtﬁwaﬁw%, s

-l‘

sina: cosa ) 2
\/cosec o cosec B +
sin cosf

ﬁmﬁ:w%?
(a) O
(®) 1

'(0)2

87.

(d)atrftf%sﬁqaﬁﬁaﬁ-{aﬁ

ﬁ'ﬂri%rfiaam,wﬁmaﬂﬁu-:

1. i ol aqds & woge R e
B

2. B @ grg @ W s8eaRa 2
| gﬁ%é’mm%ﬁr&ﬂﬂ’rﬁ—gq‘(

: mmaﬁarﬂﬁaaﬁwaﬂwﬁm
2

Iuiffed Fot & wed ¥ Preafafa

AR ATe oTE oWl R

(a) FUA-1 = FI9-2
(b) : FUF-2 = FYF-1
() FUA-1 ¢ F97-2

(d 5 @ Fa9-1 = FIF-2 9 #
FYT-2 = FU-1

88.

- 89.

90.

| lo. i+Io —{+lo (§+
Bio > o 3 Bio 4 )T

91.

ﬁﬁﬁ%ﬁﬁﬁﬁ#ﬂ@aﬁwm
g7 :

(a) 161
(b) . 171
) 173
d 221

43 343
NI RN S
(a) 16
(b). 8
(c) 4

(d) s
8 W&l T

m;{%?

fraa

fha? & sq@Ee & ?
(a) 0
b 1

(c) log,5

S (d) SuRfofem & @ ¥ T8

A

: o D
¥ & firr A £ B = 38%, AC = BC 9k
AD=CD 2| £ D fras sxmy & ?
(a) 26° ‘

(b) 28°

- {c) 38°

(d) 52°
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93.

R M P
In the figure given above, LM is parallel
to QR. If LM divides the triangle PQR
such that area of trapezium LMRQ is two
times the area of triangle PLM, then what
PL

i ?
18 PQ equal to 7

(a)

Sl

-

(b)

b | =

()

[ ]

@ 3

The largest integer that divides product

of any four consecutive integers is
(a) 4

(b) | 6

(c) 12

(d) 24

20

E

In the figure given above, AB is parallel
to CD. If £ DCE = x and £ ABE =y,
then what is £ CEB equal to ?

(@ y-x
(b) (x + y)/2

(c) x+y-(w2)

(d) x+y-m=
A B
0g°
FC ) 1440
C
\< D
. _

In the figure given above, AB is
parallel to CD. If £ BAF = 98° and
£ AFC = 144°, then what is £ ECD equal

to ?

(a) 62°
(b) 64°
(c) 82°
(d) 84°

(Contd.)
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(a)

R M ' P
m%ﬁa\ﬁLM,QR%W% afg

P PQR 1 LM 3@ %R afean 2 &

TSt LMRQ &1 &% Biys PLM

'%me%m—mﬁ%

PQ
m%\?

S

(b)

&l

©)

B | —

—

(d)

|

B W SRR et @ e @

fetiRE &7 e wfterew quits @ @ 9
(a) 4 |

(b) 6

(c) 12

- (d) 24

E.
FRF fF ¥ AB,CD# gorae 21 R
ZDCE=x 3T £/ ABE=y,® Z CEB
frad sTmT B 7

(@ y-x
(b) x +y)2
) x+y-(n?2)

d) x+y-=x
A B
98°
FC ) 144°
C
\< | D
B

FR % R ¥ AB,CD & #FaT 81 R
Z BAF = 98° 3T £ AFC = 144° §9

" Z ECD 588 aew 2 7

(a) 62°
(b) 64°
(c) 82°
(d) 84°
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96. How many degrees are there in an angle

97.

98.

which equals two-third of its complement ?
(a) 36°

(b) 45°
(c) 48°
(d) 60°
L
i 55° a7° ?
(>N
R v -8

In the figure given above, PQ is parallel
to RS. What is £ NMS equal to ?

(a) 20°

(b) 23°
(c) 27°
(d) 47°
B
AN M__—C

In the figure given above, O is the centre
of the circle, OA =3 cm, AC =3 cm and
OM is perpendicular to AC. What is
Z ABC equal to ? ‘

(a) 60°
(b)_ 45°
(c) 30°
(d) None r;')f the above

99.

100.

AC is the diameter of the circum-circle
of the cyclic quadrilateral ABCD. If
Z BDC = 42°, then what is £ ACB equal
to ? ' ‘

(a) 42°
(b) 45°
(c) 48°
(d) 58°

The diameter of a circle circumscribing a

square is 152 cm. What is the length
of the side of the square ?

(a)
(b) 12 cm

15 ¢cm

10 cm

(c)
(d} 75 cm
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96.ﬁaﬂwaﬁwwﬂsﬁm§%wﬁ 99. W ¥gHYS ABCD % qRga &1 @w.

97.

98.

R

B st & 7
(a) 36° |
(b) 45°

() 48°

) 60°

F # frx & PQ, RS # &wraT B

Z NMS foras gqex 8 7
(a) 20°

(b) 23°
{(c) 27°

(d)y 47°

AC
_m' % R A, g9 ® F% O 2,
OA=3cm, AC =3 cm 3T OM, AC X
@ 81 £ ABC Fe® swme B ?

(a) 60°
(b) 45°

(©) 30° |
d) SRt ¥ & T8

AC 21 IR « BDC = 42°, @ .Z ACB
fhes e & 7

(a). 42°

(b) 45° -

(c) 48°

(d) 58°

100. feft =f & wRge =1 =@ 15¢2 cm 21

af f e A wad ;OB 7
(a) -15 cm

(b) 12 cm

(c) IO cm

() 75 em
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Note : English version of the instructions is printed on the front cover of this Booklet.




